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BRI SR Intel(R)Core(TM) 2QuadCPU Q9400 @2.66GHz(4
CPUs) ,~2.7GHz
sUIEAS 2048MB RAM
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string sql = "SELECT distinct #Cihi4sk, 9T 5% Fuih 476 FROM HE
where £ ="1"";

dataGridView2.DataSource = ds;

dataGridView2.DataMember = "3 E2.",;
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TabControl
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private void buttonl_Click(object sender, EventArgs e){
if (tabControll.Selectedindex == 0){
Int32 selectedRowCount =
dataGridView2.Rows.GetRowCount(DataGridViewElementStates.Selected);
if (selectedRowCount > 0){
System.Text.StringBuilder sb = new
System.Text.StringBuilder();
listBox1.ltems.Add(sb. ToString()) }}}
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string a = comboBox1.Text;
string sgl = "SELECT distinct X ph4R5%, 3K F 4%, 3K 48 FROM #1E
where "+ a+ " like '%" + textBox1.Text + "%'";
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FLAMEZEERE > TCP Client i AGEHE 2R ERY IP:port , Connecting
done RZE4REL D]

# | Divtcp_async\ConnectionClient.es
TCP client.

Yexit"™ to exit.

“"start ping" to start pinging server.

“"stop ping” to stop pinging server.

"start {cn>" to start {cn? number of connections.——1

Please enter remote address and port: 192_168.2_.128:9999
Connecting... Done.

8 s IR
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N £y TCP Server Uiy A BidE port , Server GG Eare
B Ditep_async\ConnectionServer.exe |.5|E|i:—h] )
i

o - e —
TCP listener and proxy. Defaunlt mode is

m

"exit™ to exit.

"zshow text” to display tcp data as text.

"hide text" to stop displaying tcp data as text. —
"drop all" to drop all connections.

Please enter port numbher: 2999
Starting TCP server... Done. Listening.

9 falfkesEid(l)

Server BEESEEZ Client Socket , B LABEAEERIEH &,

-
¥ Ditep_async\ConnectionServer.exe |E|E|ihj

TCP listener and proxy. Default mode is '"text™.

- Yexit" to exit.

i 'show text' to display tep data as text.

H 'hide text' to stop displaying tcp data as text.
i—= "drop all" to drop all connections.

Pleasze enter port number: 9999

Starting TCP server... Done. Listening.
Accept?

Mew connection from System.Met.Sockets.Socket

B 10 {alfkasfils(2)
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figr A2 Enter 3%H45 Server I

B D\tep_async\ConnectionClient.exe

TCP client.

"exit" to exit.

“"start ping" to start pinging server.

“"stop ping" to stop pinging server.

"start {cn2" to start {cn? number of connections.——

Please enter remote address and port: 192.168.2.128:9999
Connecting... Done.

Hello ., I am Client.

11 Client 5 A&}

Server I Client U FrEix > s{UE. Server Uit AT HUER 2 2% [H]45 Client
Uit

"text'.

"exit" to exit.

"show text" to display tcp data as text.

"hide text" to stop displavying tcp data as text.
"drop all" to drop all connections.

Please enter port number: 2999

SGtarting TCP server... Done. Listening.
fAccept?

Mew connection from System.MNet.Sockets_Socket

Hello ., I am Client.

Hello ., I am Server.

11 Server FECE R [A]{#
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[ AU E] Server [e{# 7 SHEHY Client Uies [E] ©

# Ditep_asynciConnectisnChentex

TCP client.

— "exit" to exit.

— "start ping" to start pinging server.

—— op ping'" to stop pinging server.

—— "start {cn>" to start {cn> number of connections.

Pleasze enter remote address and port: 192.168.2_.128:97999
Connecting... Done.

Hello . I am Client.

Hello . I am Server.

12 Client 32U Server [{#Z0k}
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if (v==btnCreateDB) {

CreateDB();

table.gvRemowve All();

InsertRecord(16);

table.gvUpdatePageBar("'select count(*) from " +
TABLE_NAME+" where "+a+"like "+"%"+s+"%"",db);

table.gvReadyTable("select musicnumber,name,song from "
+ TABLE_NAME+" where "+a+" like "+"%"+s+"%"",db);

PUMEZUE AT LIERSE MEHZ1% - BURHFrAR ST Er - B ~ 20K
FHEFAE MR

else if (v== btnboy)
{

table.gvRemowve All();

InsertRecord(16);

table.gvUpdatePageBar("'select count(*) from " +
TABLE_NAME + " where sex="+1,db);

table.gvReadyTable("'select musicnumber,name,song from "
+ TABLE_NAME + " where sex="+1,db);
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PUN 2= F 2+ 2 R RS B GridView » DIBTRATERVERINZ
gvPage=new GridView(context);
gvPage.setColumnWidth(40);//:4 & EHE 7y B iy e
gvPage.setNumColumns(GridView.AUTO_FIT);// 77 E 1785 = H
B
addView(gvPage, new
LinearLayout.LayoutParams(LayoutParams.ElLL_PARENT,
LayoutParams.WRAP_CONTENT));
srcPagelD = new ArrayList<HashMap<String, String>>();
saPagelD = new SimpleAdapter(context,
srcPagelD, R.layout.items,
new String[] { "ltemText"},
new int[] { R.id.ltemText });
gvPage.setAdapter(saPagelD);
gvPage.setOnltemClickListener(new OnltemClickListener(){
@Owerride
public void onltemClick(AdapterView<?> arg0, View argl, int arg2,
long arg3) {LoadTable(arg2);//fIi5 it o H e HUAEAE0E
if(switchListener!=null){//57 = Al
switchListener.onPageSwitchListener(arg2,srcPagelD.size()); } } });

T [aal O % ol 47%mE T 317
testSQLite
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FROM1

using System;

using System.Collections.Generic;
using System.ComponentModel,;
using System.Data;

using System.Drawing;

using System.L.ing;

using System.Text;

using System.Windows.Forms;
using System.Data.OleDb;

using System.Net.Sockets;

using System.Net;

using System.Threading;

namespace WindowsFormsApplicationl

{

public partial class Forml : Form

{
DataSet ds = new DataSet();
BindingSource bs = new BindingSource();
Form2 2 = new Form2();

DataSet rcds = new DataSet();
DataSet dss = new DataSet();

int a;

intb=0;

private static Socket mainSocket;
int port;

bool portready = false;

const int MAX_CLIENTS = 20;
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public class Connectioninfo
{
public Socket Socket;
public byte[] Buffer;
}
private static List<ConnectionInfo>connections = new
List<ConnectionInfo>();

public Form1()
{

InitializeComponent();

/*

string cstcall = "Provider=Microsoft. ACE.OLEDB.12.0;Data
Source=C:\\Database2.accdb™;

string sqlcall = "SELECT distinct =i &5 5K T 2470 Kt 4
f FROM 5 where StHfidsi="+ text;

OleDbConnection connn = new OleDbConnection(cstcall);

OleDbDataAdapter AdapterCallback = new
OleDbDataAdapter(sglcall, connn);

connn.Open();

AdapterCallback.Fill(dss, "s{ E");

connn.Close();

dataGridView8.DataSource = dss;

dataGridView8.DataMember = "8 E& ",

*/
}
private void Form1_Load(object sender, EventArgs e)
{

/I System.Threading. Thread objWorkerThread = new
System.Threading. Thread(new ThreadStart(ReceiveCallback));
/I objWorkerThread.Start();

Form.CheckForlllegalCross ThreadCalls = false; /i1 74£ Ul

S ——
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/1 TODO: i1 A TS &I ZkHi A databaseDataSet] JEBH T Zk1# -
TR DR S TR B b -
/1this FEEEEK T Table Adapter.Fill (this.database DataSetl S B T);
I/ TODO: iE1TH2 IS & R &l A 'databaseDataSetl. 55E 2T &k
= o AR R TR B e bR -
/1this.& 58 25 FTable Adapterl.Fill(this.database DataSetl . & 2 2.8 F);
// TODO: iE{THEHEEnk & klEk A 'databaseDataGriSet. 5 32 T &kl
= o AR R TR B S bR -
/Ithis. & 5E 2.8 F Table Adapter . Fill(this.database DataGriSet. & & 2.5 F);
[* string sqlstr,connstr;
//connstr = new OleDbConnection();
connstr = @"Provider=Microsoft. ACE.OLEDB.12.0;Data
Source=|DataDirectory|\Database.accdb™;
//Conn.Open();
OleDbConnection conn;
OleDbDataAdapter da;
conn = new OleDbConnection(connstr);*/
/*
OleDbCommand command = new OleDbCommand();
command.Connection = conn;
command.CommandText = "Select * From FZEHF"
OleDbDataReader reader = command.ExecuteReader();
while (reader.Read())

{
listBox1.ltems.Add(reader[0]. ToString());

}
*/
/Isqlstr = "select * from ZLzEHF"
//da = new OleDbDataAdapter(sqglstr,conn);
I/ da.Fill(ds, 5 5EHF-");
/I* sqlstr = "select * from EREL",
da=new OleDbDataAdapter(sqlstr,conn);
if ("= 1)
{ textBox1.Text = "53" }
else
{textBox1.Text="%." }
da.fill(ds, " EE");*/
/I sqlstr = "select * from ZEZEEFS"
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// da = new OleDbDataAdapter(sqlstr, conn);

/I daFill(ds,"S=sEEFE");

Il sqlstr = "select * from SEEEHT",

/I da = new OleDbDataAdapter(sqglstr, conn);

Il daFill(ds, "&&E5HT");

/1 sqlstr = "select * from FEZEZHKTF-"
/I da = new OleDbDataAdapter(sqlstr, conn);
I da.Fill(ds, "gE 552 3H0F);

I/l sqlstr ="select * from FEZEFHHKF"

/Il da = new OleDbDataAdapter(sqlstr, conn);

Il daFill(ds, "g&5E F5HT");

Il sqlstr = "select* from &EEZ T,

// da = new OleDbDataAdapter(sqlstr, conn);
I/ da.Fill(ds, "&3E2C80F");

/[ for (inti=0;i<=ds.Tables.Count - 1; i++)
I comboBox1.ltems.Add(ds. Tables[i]. TableName);
/lcomboBox1.Text = ds.Tables[0]. TableName;

/I bs.DataSource=ds.Tables[0];
//dataGridViewl.DataSource= bs.DataSource;
this.dataGridView2.SelectionMode =

DataGridViewSelectionMode.FullRowSelect;
/this.dataGridView2.MultiSelect = false;

this.dataGridView3.SelectionMode =
DataGridViewsSelectionMode.FullRowSelect;
[//this.dataGridView3.MultiSelect = false;

this.dataGridView4.SelectionMode =
DataGridViewSelectionMode.FullRowSelect;
[Ithis.dataGridView4.MultiSelect = false;

this.dataGridViews.SelectionMode =
DataGridViewSelectionMode.FullRowSelect;
/Ithis.dataGridView4.MultiSelect = false;

this.dataGridView6.SelectionMode =
DataGridViewSelectionMode.FullRowSelect;
//this.dataGridView4.MultiSelect = false;
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this.dataGridView7.SelectionMode =
DataGridViewSelectionMode.FullRowSelect;
/Ithis.dataGridView4.MultiSelect = false;
this.dataGridViewl.SelectionMode =
DataGridViewSelectionMode.FullRowSelect;
/Ithis.dataGridView4.MultiSelect = false;
this.dataGridView8.SelectionMode =
DataGridViewsSelectionMode.FullRowSelect;
/Ithis.dataGridView8.MultiSelect = false;

this.dataGridView9.SelectionMode =
DataGridViewSelectionMode.FullRowSelect;

string connetionStringX =

"Provider=Microsoft. ACE.OLEDB.12.0;Data Source=C:\\Database2.accdb™;

string sqIX = "SELECT distinct X 4m5% 3 4255 St 44

FROM "

OleDbConnection connback = new

OleDbConnection(connetionStringX);

OleDbDataAdapter databack = new OleDbDataAdapter(sglX,

connback);

DataSet dsX = new DataSet();
connback.Open();

databack. Fill(dsX, "=t EL");
connback.Close();
dataGridView8.DataSource = dsX;
dataGridView8.DataMember = "5t B2

string connetionString =

"Provider=Microsoft. ACE.OLEDB.12.0;Data Source=C:\\Database2.accdb";

string sql = "SELECT distinct S &5t 5T~ 2K h 447

FROM #KEL where 4R ="1""

OleDbConnection connection = new

OleDbConnection(connetionString);

OleDbDataAdapter dataadapter = new OleDbDataAdapter(sql,

connection);
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DataSet ds = new DataSet();
connection.Open();

dataadapter.Fill(ds, "5 E");
connection.Close();
dataGridView2.DataSource = ds;
dataGridView2.DataMember = "5 B2 "

S —

string connetionStringl =
"Provider=Microsoft. ACE.OLEDB.12.0;Data Source=C:\\Database2.accdb";

string sql1 = "SELECT distinct &K 455, 3K 3410, 1 il 2418
FROM FKEL where 47| ='2"

OleDbConnection connectionl = new
OleDbConnection(connetionStringl);

OleDbDataAdapter dataadapterl = new OleDbDataAdapter(sqll,
connectionl);

DataSet ds1 = new DataSet();

connection1.Open();

dataadapterl.Fill(ds1, "t E");

connectionl.Close();

dataGridView3.DataSource = dsl;

dataGridView3.DataMember = "5 B2 "

S ——

string connetionString2 =
"Provider=Microsoft. ACE.OLEDB.12.0;Data Source=C:\\Database2.accdb";
string sql2 = "SELECT distinct &K 455, 31 2410, 1 il 2415
FROM #XE where 47l ='3"

OleDbConnection connection2 = new
OleDbConnection(connetionString2);

OleDbDataAdapter dataadapter2 = new OleDbDataAdapter(sql2,
connection2);

DataSet ds2 = new DataSet();

connection2.0pen();
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dataadapter2.Fill(ds2, "t B");
connection2.Close();
dataGridView4.DataSource = ds2;
dataGridView4.DataMember = "5 B2
string connetionString3 =
"Provider=Microsoft. ACE.OLEDB.12.0;Data Source=C:\\Database2.accdb";
string sql3 = "SELECT distinct 4555, F 48, Fih 25
FROM (B where 355 = EIRE"™

OleDbConnection connection3 = new
OleDbConnection(connetionString3);

OleDbDataAdapter dataadapter3 = new OleDbDataAdapter(sql3,
connection3);

DataSet ds3 = new DataSet();

connection3.0pen();

dataadapter3.Fill(ds3, "t B");

connection3.Close();

dataGridView5.DataSource = ds3;

dataGridViews.DataMember = "5 B2

string connetionString4 =
"Provider=Microsoft. ACE.OLEDB.12.0;Data Source=C:\\Database2.accdb";

string sql4 = "SELECT distinct &K 455, 4K 2410, 1 il 2418
FROM #(¥ where 3= ='G55"

OleDbConnection connection4 = new
OleDbConnection(connetionString4);

OleDbDataAdapter dataadapter4 = new OleDbDataAdapter(sql4,
connectiord);

DataSet ds4 = new DataSet();

connection4.Open();

dataadapter4.Fill(ds4, "t B");

connectiond.Close();

dataGridView6.DataSource = ds4;

dataGridView6.DataMember = "5 B2 "

S —
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string connetionString5 =
"Provider=Microsoft. ACE.OLEDB.12.0;Data Source=C:\\Database2.accdb";
string sql5 = "SELECT distinct 4w 5% T4 58 3t 5255
FROM X where 555 = JLaEE"

OleDbConnection connection5 = new
OleDbConnection(connetionStringb);

OleDbDataAdapter dataadapter5 = new OleDbDataAdapter(sqls,
connections);

DataSet ds5 = new DataSet();

connection5.0pen();

dataadapter5.Fill(ds5, "5t B ");

connection5.Close();

dataGridView7.DataSource = ds5;

dataGridView7.DataMember = "$ E5"

string connetionString6 =
"Provider=Microsoft. ACE.OLEDB.12.0;Data Source=C:\\Database2.accdb";

string sql6 = "SELECT distinct FXHH455% F 428 Fih 42f%
FROM EE",

OleDbConnection connection6 = new
OleDbConnection(connetionString6);

OleDbDataAdapter dataadapter6 = new OleDbDataAdapter(sqlé,
connectiong);

DataSet ds6 = new DataSet();

connection.Open();

dataadapter.Fill(ds6, "5 E");

connection.Close();

dataGridView9.DataSource = ds6;

dataGridView9.DataMember = "$ E2"

comboBox1.ltems. Add( "+ ");

comboBox1.ltems. Add("E=");

comboBox1.ltems. Add( "X F-44FE");

comboBox1.ltems. Add( "= i 4 FE");
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port = 9999;

mainSocket = new Socket(AddressFamily.InterNetwork,
SocketType.Stream, Protocol Type.Tcp);

IPEndPoint ipLocal = new IPEndPoint(IPAddress.Any, port);

mainSocket.Bind(ipLocal);

mainSocket.Listen(10); //F &) =

portready = true;

mainSocket.BeginAccept(new AsyncCallback( AcceptCallback),
mainSocket); }

private void buttonl_Click(object sender, EventArgs e) {
if (tabControll.Selectedindex == 0)
{ /I MessageBox.Show(dataGridView2[1,1].Value.ToString());
Int32 selectedRowCount =
dataGridView9.Rows.GetRowCount(DataGridViewElementStates.Selected);
if (selectedRowCount > 0)
{ System.Text.StringBuilder sb = new
System.Text.StringBuilder();
for (int i =0;i < selectedRowCount; i++)
{for (intj=0;j<3;j++)
{

sh.Append(dataGridView9.CurrentRow.Cells[j].Value. ToString());
if (j<2)
{ sb.Append(""); ¥
//sb.Append("Row: ");
//sb.Append(dataGridView?2.SelectedRows[i].Index. ToString());
//sh. Append(Environment.NewLine);
} ¥
//sh.Append(*Total: "+
selectedRowCount.ToString());
listBox1.ltems.Add(sb. ToString());
/IMessageBox.Show(dataGridView2[a,
a].Value.ToString());

¥ ki
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if (tabControll.Selectedindex == 1)
{
/1l
MessageBox.Show(dataGridView2[1,1].Value. ToString());
Int32 selectedRowCount =

dataGridView2.Rows.GetRowCount(DataGridViewElementStates.Selected);

if (selectedRowCount > 0)
{
System.Text.StringBuilder sb = new
System.Text.StringBuilder();
for (int i =0; i < selectedRowCount; i++)
{ for (intj=0;]j<3;j++)

{
sh.Append(dataGridView2.CurrentRow.Cells[j].Value. ToString());
if (j<2)
{
sh. Append(" ");
}

//sb.Append("Row: ");
//sb.Append(dataGridView2.SelectedRows[i].Index. ToString());
//sb. Append(Environment.NewL.ine);
Y}
[/Isb.Append(‘Total: "+
selectedRowCount.ToString());
listBox1.ltems.Add(sb. ToString());
//MessageBox.Show(dataGridView2]a,
a].Value.ToString());

} }
if (tabControll.Selectedindex == 2)
{ /I MessageBox.Show(dataGridView2[1,1].Value.ToString());

Int32 selectedRowCount =

dataGridView3.Rows.GetRowCount(DataGridViewElementStates.Selected);

if (selectedRowCount > 0)
{ System.Text.StringBuilder sb = new
System.Text.StringBuilder();
for (int i =0; i < selectedRowCount; i++)
{ for(intj=0;j<3;j++)

45



{ sb.Append(dataGridView3.CurrentRow.Cells[j].Value.ToString());
if (j<2)
{sb.Append(""); }
//sb. Append("Row: ");
//sb.Append(dataGridView2.SelectedRows[i].Index. ToString());
//sb. Append(Environment.NewL.ine);
} }
/Isb.Append("Total: "+
selectedRowCount.ToString());
listBox1.ltems.Add(sb. ToString());
//MessageBox.Show(dataGridView2]a,
a].Value.ToString()); }}
if (tabControll.Selectedindex == 3)
{ /I MessageBox.Show(dataGridView2[1,1].Value.ToString());
Int32 selectedRowCount =
dataGridView4.Rows.GetRowCount(DataGridViewElementStates.Selected);
if (selectedRowCount > 0)
{ System.Text.StringBuilder sb = new
System.Text.StringBuilder();
for (int i =0;i < selectedRowCount; i++)
{for (intj =0;j < 3; j++)

{ sb.Append(dataGridView4.CurrentRow.Cells[j].Value. ToString());
if (j<2)
{ sb.Append(""); }
//sb. Append("Row: ");
//sb.Append(dataGridView2.SelectedRows[i].Index. ToString());
//sh. Append(Environment.NewLine);
Y 2
//sh.Append(*Total: "+
selectedRowCount.ToString());
listBox1.ltems.Add(sb. ToString());
/IMessageBox.Show(dataGridView2[a,

a].Value.ToString()); } }
if (tabControll.SelectedIndex == 4)
{

/I MessageBox.Show(dataGridView2[1,1].Value.ToString());
Int32 selectedRowCount =
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dataGridView5.Rows.GetRowCount(DataGridViewElementStates.Selected);
if (selectedRowCount > 0)
{ System.Text.StringBuilder sb = new System.Text.StringBuilder();
for (int i =0;i < selectedRowCount; i++)
{ for(intj=0;j<3;j++)
{sb.Append(dataGridViews.CurrentRow.Cells[j].VValue. ToString());
if (j<2)
{ sb.Append(""); }
/Isb.Append("Row: ");
//sb.Append(dataGridView2.SelectedRows[i].Index. ToString());
//sb. Append(Environment.NewL.ine);
Yol
//sb.Append(*Total: "+
selectedRowCount.ToString());
listBox1.ltems.Add(sb. ToString());
//MessageBox.Show(dataGridView2]a,
a].Value.ToString()); } }
if (tabControll.SelectedIndex == 5)
{ // MessageBox.Show(dataGridView2[1,1].Value.ToString());
Int32 selectedRowCount =
dataGridView6.Rows.GetRowCount(DataGridViewElementStates.Selected);
if (selectedRowCount > 0)
{ System.Text.StringBuilder sb = new System.Text.StringBuilder();
for (inti=0;i < selectedRowCount; i++)
{ for (intj=0;] <3;j++)
{ sb.Append(dataGridViews.CurrentRow.Cells[j].Value.ToString());
if (j<2)
{ sb.Append(""); }
//sb.Append("Row: ");
//sb.Append(dataGridView2.SelectedRows([i].Index. ToString());
//sh. Append(Environment.NewLine);
} ¥
[Isb.Append("Total: "+
selectedRowCount.ToString());
listBox1.ltems.Add(sb. ToString());
/IMessageBox.Show(dataGridView2[a,
al.value.ToString()); } }
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if (tabControll.Selectedindex == 6)
{/I MessageBox.Show(dataGridView2[1,1].Value.ToString());
Int32 selectedRowCount =
dataGridView7.Rows.GetRowCount(DataGridViewElementStates.Selected);
if (selectedRowCount > 0)
{ System.Text.StringBuilder sb = new System.Text.StringBuilder();
for (int i =0;i < selectedRowCount; i++)
{ for(intj=0;j<3;j++)
{ sb.Append(dataGridView?7.CurrentRow.Cells[j].Value. ToString());
if(j<2)
{sb.Append("");  }
//sb.Append("Row: ");
//sb.Append(dataGridView2.SelectedRows([i].Index. ToString());
//sb.Append(Environment.NewLine); } }
//sb.Append(*Total: "+
selectedRowCount.ToString());
listBox1.ltems.Add(sb. ToString());
//MessageBox.Show(dataGridView2]a,
a].Value.ToString()); } } }
private void comboBox1_SelectedindexChanged(object sender,
EventArgs e)
{ bs.DataSource = ds.Tables[comboBox1.Text];
dataGridViewl.DataSource = bs.DataSource;
if (comboBox1.SelectedIndex ==0)
{
Form3 f3 = new Form3();
f3.ShowDialog();
textBox1.Text = f3.s; }
if (comboBoxl.SelectedIindex == 1)
{ textBoxl.Text = "fijs AZEE"
/I MessageBox.Show( =5 A K FEE"); }
if (comboBoxl.SelectedIindex == 2)
{ textBoxl.Text = "fii ASTH1E"
/IMessageBox.Show( 35 A B « Gafeids:E");,  }
if (comboBoxl.SelectedIindex == 3)
{ textBox1.Text = " AGKHHHE"
/IMessageBox.Show( 55 A - GaEEid&:E"), } }
private void button4_Click(object sender, EventArgs e)
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{ /I OleDbConnection cn = new OleDbConnection
//("Provider=Microsoft. ACE.OLEDB.12.0;Data
Source=C:\\Database2.accdb");
/I cn.Open();
/I OleDbCommand cmd = new OleDbCommand();
/I0leDbDataAdapter dataadapter = new OleDbDataAdapter(sql,
connection);
//DataSet ds = new DataSet();
/I cmd.Connection = cn;
/ldataadapter.Fill(ds, "Authors_table");
/Iconnection.Close();
//dataGridViewl.DataSource = ds;
/ldataGridViewl.DataMember = "Authors_table";
/I cmd.CommandText = "select * from HEE";
/I cmd.ExecuteNonQuery();
//DataSet ds = new DataSet();
//dataGridViewl.DataSource = a.DataSource;
//dataGridViewl.DataSource = t;
/NistBox1.Text = cmd,;
/IMessageBox.Show("Handsome");
/ldataGridViewl.DataSource = da.DataSource;
[[for (int1=0; i <= ds.Tables.Count - 1; i++)
//bs.DataSource=ds.Tables[0];
/ldataGridViewl.DataSource= bs.DataSource;
[*string a =" F1";
sgl = "select * from FEEL",
dataadapter = new OleDbDataAdapter(sgl, connection);

if(b==1)
{textBox3.Text = "5&8";  }
else

{textBox3.Text = "'  }*/
/lda.fill(ds, "SR E"); }
private void button2_Click(object sender, EventArgs e)
{if (textBox1.Text == null || textBox1.Text == "fig A" |
comboBox1.Text == "= 75 ")
{ MessageBox.Show("55 i A= M0R (4", "R IFFEER");
textBox1.Text = 200"
comboBox1.Text = "t F54F5" }
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string a= comboBox1.Text;
if (a== "4 %)
{ tabControl2.Visible = true;
button20.Visible = true;
string connetionStringl =
"Provider=Microsoft. ACE.OLEDB.12.0;Data Source=C:\\Database2.accdb";
string sqll = "SELECT distinct & 1457 2 2410, 21
#F8 FROM (B where 222 ="'+ textBox1.Text + "
/IMessageBox.Show(textBox1.Text);
OleDbConnection connectionl = new
OleDbConnection(connetionStringl);
OleDbDataAdapter dataadapterl = new
OleDbDataAdapter(sqll, connectionl);
DataSet ds1 = new DataSet();
connection1.0pen();
dataadapterd.Fill(dsl, " EE");
connectionl.Close();
dataGridViewl.DataSource = ds1;
dataGridViewl.DataMember = "$ & " }
else
{ tabControl2.Visible = true;
button20.Visible = true;
/Istring a = comboBox1.Text;
string connetionString =
"Provider=Microsoft. ACE.OLEDB.12.0;Data Source=C:\\Database2.accdb";
string sql = "SELECT distinct & 455, s =408, K i %4
tH FROM B where "+a+ "like '%" + textBox1.Text + "%'";
OleDbConnection connection = new
OleDbConnection(connetionString);
OleDbDataAdapter dataadapter = new
OleDbDataAdapter(sql, connection);
DataSet ds = new DataSet();
connection.Open();
dataadapter.Fill(ds, " E");
connection.Close();
dataGridViewl.DataSource = ds;
dataGridViewl.DataMember = " & " }
I* if (a=="3E="&& (textBoxl.Text != "E{zE" ||
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textBox1.Text I= "&zE" || textBox1.Text = "5izE"))

{ MessageBox.Show("fii AFE s ARGE - GaBEsE"); }

if (@a==""% 5" && (textBoxl.Text != "4 "|textBox1.Text = "
r1"textBox1.Text I= "T "|[textBox1.Text = "7 "|textBox1.Text = "%
"|textBox1.Text I= "4 "
[textBox1.Text = "{ "|textBox1.Text = "/~

"textBox1.Text I= "Y "ltextBox1.Text I= "¢ "|ftextBox1.Text !="T
"ltextBox1.Text I= "W "textBox1.Text = " £ "ljtextBox1.Text = "'/
"|textBox1.Text = "7 "jtextBox1.Text = "+ "|textBox1.Text I="Z
"|textBox1.Text 1= "—"|textBox1.Text != "X "||textBox1.Text I="Y
"|textBox1.Text I= "< "|textBox1.Text 1= "<& "|jtextBox1.Text I= "t
"|ltextBox1.Text 1= "% "))

{ MessageBox.Show("s5#m AUEE"); }  */
I*if (b > 30)
{ MessageBox.Show("E & VAZE/ N30, 1/ }

private void button8_Click(object sender, EventArgs e)
{ if (tabControl2.Selectedindex == 0)
{ /I MessageBox.Show(dataGridView2[1,1].Value.ToString());
Int32 selectedRowCount =
dataGridViewl.Rows.GetRowCount(DataGridViewElementStates.Selected);
if (selectedRowCount > 0)
{ System.Text.StringBuilder sb = new System.Text.StringBuilder();
for (int i =0; i < selectedRowCount; i++)
{ for(intj=0;j<3;j++)
{ sb.Append(dataGridViewl.CurrentRow.Cells[j].Value.ToString());
if (j<2)
{ sb.Append(""); }
//sb.Append("Row: ");
//sb.Append(dataGridView2.SelectedRows([i].Index. ToString());
//sb.Append(Environment.NewL.ine); } 3}
//sb.Append(*Total: "+ selectedRowCount.ToString());
listBoxl.ltems.Add(sb.ToString());
//MessageBox.Show(dataGridView2[a, a]. Value.ToString());} }}
private void timerl_Tick(object sender, EventArgs e)
{ if (f2.axWindowsMediaPlayerl.playState ==
WMPLib.WMPPlayState . wmppsPlaying)//fz 25 & e 45 15 75
{ //MessageBox.Show( " ihi#E R +");
/laxWindowsMediaPlayerl.Text = "Windows Media Player is playing!";
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else
{ //MessageBox.Show( "X #E N 5ER";
if (listBox1.ltems.Count >=1 )
{ listBox1.SetSelected(0, true);
f2.axWindowsMediaPlayerl.URL = "D:\\GOOD\\" +
listBox1.Text. ToString() + "MPG";
/Nabell.Text=listBox1.Text. ToString();
listBox1.ltems.Remowe(listBox1.Selectedltem); }
[laxWindowsMediaPlayerl.Text = "Windows Media Player is NOT
playing!";  }}
private void button9_Click(object sender, EventArgs e)
{ [l Form2 f2 = new Form2();

f2.Show(); }
private void timer2_Tick(object sender, EventArgs e)
{ if (listBox1.ltems.Count >=1)

{ timerl.Enabled = true;
f2.axWindowsMediaPlayerl.URL = "D:\\GOOD\\" +
listBox1.Text. ToString() + "MPG";

timer2.Enabled = false; } }
private void textBox1 Click(object sender, EventArgs e)
{ textBox1l.Text="", }

private void AcceptCallback(lAsyncResult result)
{ Connectioninfo connection = new Connectioninfo();
try
{ /I Finish Accept
Socket's = (Socket)result.AsyncState;
connection.Socket = s.EndAccept(result);
connection.Socket.Blocking = false;
connection.Buffer = new byte[1024];
lock (connections) connections.Add(connection);
/I Start Receive
connection.Socket.BeginReceive(connection.Buffer, 0,
connection.Buffer.Length, SocketFlags.None, new
AsyncCallback(ReceiveCallback), connection);
/I Start new Accept
mainSocket.BeginAccept(new AsyncCallback( AcceptCallback),
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result.AsyncState); }

|[mF====================s=osoossooososSsooooooSSooso=os=oss
private void ReceiveCallback(lAsyncResult result)
{ Connectioninfo connection = (Connectioninfo)result.AsyncState;
/I ThreadStart myRun = new ThreadStart(Sendthread);
try
{ int bytesRead = connection.Socket.EndReceive(result);
string text = Encoding.UTF8.GetString(connection.Buffer, 0,
bytesRead);

/Istring cst = "Provider=Microsoft. ACE.OLEDB.12.0;Data
Source=C:\\Database2.accdb";
/Istring sql = "SELECT distinct &K 4R 5%, #2418, i
#fE FROM ECEE where Shidssi="+ text;
string sglcall = "SELECT distinct &K 4R35 8 258 8 248 FROM &
B where FH4R55E="+ text;
//OleDbConnection connn = new OleDbConnection(cst);
//OleDbDataAdapter dataadapter = new OleDbDataAdapter(sql, connn);
I* connn.Open();
dataadapter.Fill(ds, " E");
connn.Close();
dataGridView8.DataSource = ds;
dataGridView8.DataMember = "5fxE& "™ */
a= Convert.ToInt32(text);
a=a-1,
System.Text.StringBuilder sbb = new
System.Text.StringBuilder();
try { for(intj=0;j<3;j++)
{ sbb.Append(dataGridView8.Rows[a].Cells[j].Value. ToString());
if (j<2)
{sbb.Append(""); } }
listBox1.ltems.Add(sbb. ToString()); }
catch (Exception) { }
/I connection.Socket.BeginReceive(connection.Buffer, 0,
connection.Buffer.Length, SocketFlags.None, new
AsyncCallback(ReceiveCallback), connection); }

|/=======================================================

53



private void button3_Click _1(object sender, EventArgs e)
{ listBox1.SetSelected(0, true);
f2.axWindowsMediaPlayerl.URL = "D:\\GOOD\\" +
listBox1.Text. ToString() + "MPG";
/Nabell.Text=listBox1.Text. ToString();
listBox1.ltems.Remowe(listBox1.Selectedltem);
private void button3_Click 2(object sender, EventArgs e)

{ listBox1.ltems.Remowve(listBox1.Selectedltem);
private void button4_Click 1(object sender, EventArgs e)
{ f2.axWindowsMediaPlayerl.Ctlcontrols.pause();

Bfsk — ~ SFimtE =05 android textSQLite

package com.testSQL.ite;

import java.io.BufferedReader;

import java.io.DataOutputStream;

import java.io.lOException;

import java.net.InetAddress;

import java.net.Socket;

import android.R.string;

import android.app. Activity;

import android.content.Context;

import android.content.Dialoginterface;

import android.content.DialogInterface.OnClickListener;
import android.content.Intent;

import android.database.Cursor;

import android.database.SQLEXxception;

import android.database.sqlite.SQLiteDatabase;
import android.os.Bundle;

import android.util.Log;

import android.view.MotionEwvent;

import android.view. View;

import android.view. View.OnTouchListener;
import android.widget.AdapterView;

import android.widget.AdapterView.OnltemSelectedListener;
import android.widget.Array Adapter;

import android.widget.Button;

import android.widget.EditText;
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import android.widget.ImageButton;
import android.widget.LinearLayout;
import android.widget.RadioButton;
import android.widget.RadioGroup;
import android.widget.Spinner;
import android.widget. TextView;
import android.widget.Toast;
public class testSQL.ite extends Activity {
GVTable table;
Button
btnCreate DB, btnInsert,btnClose,btnboy,btngirl,btngro,btnlanl,btnlan2,btnlan3;
ImageButton bl;
SQL.iteDatabase db;
DatabaseHelper myDbHelper ;
private static final int SOCKET_TIMEOUT = 1000;
private static final int PORT=9999;
private String ADDRESS="192.168.1.45",
private Socket socket;
BufferedReader buff;
private EditText etl;
/Iprivate Spinner spinner;
private RadioGroup reg;
private RadioButton n;
private RadioButton nn;
private RadioButton nnn;
IIprivate String[] list = {8 F-47 ", Sk, e 447 ),
private ArrayAdapter<String> listAdapter;
private Context mContext;
String s,a;
int d;
int id//AARNIECERI Y id BANEEED » WVAS S
private static final String TABLE_NAME = "music",
@Owerride
public void onCreate(Bundle savedInstanceState) {
super.onCreate(savedInstanceState);
setContentView(R.layout.main);
n = (RadioButton) findViewByld(R.id.radio0);
nn = (RadioButton) findViewById(R.id.radiol);
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nnn = (RadioButton) findViewByld(R.id.radio2);
reg = (RadioGroup)findViewByld(R.id.radioGroupl);
reg.setOnCheckedChangeL.istener(listener);
etl=(EditText)findViewByld(R.id.editText1);
s = etl.getText().toString();
a=(String) n.getText();
a="number";
mContext = this.getApplicationContext();
[Ispinner = (Spinner)findViewById(R.id.spinnerl);
/NistAdapter = new Array Adapter<String>(this,
android.R.layout.simple_spinner_item, list);
/Ispinner.setAdapter(listAdapter);
I* spinner.setOnltemSelectedListener(new OnltemSelectedListener(){
@Ovwerride
public void onltemSelected(AdapterView<?> arg0, View argl,int
position, long arg3) {
a=(String) spinner.getSelecteditem();
if(a=="TFA77)
{ a="name"; }
if(a=="%"
{ a="number"; }
if(a=="8Cifi1 4 FH")
{a="song"; }
Toast.make Text(mContext, "{/RIERZ"+a,
Toast.LENGTH_SHORT).show();}
@Owerride
public void onNothingSelected(AdapterView<?> arg0) {
/I TODO Auto-generated method stub
} H*l
etl.setOnTouchListener(new OnTouchListener(){ @Owerride
public boolean onTouch(View v, MotionEvent event) {
/I TODO Auto-generated method stub
etl.setText("™);
Toast.make Text(testSQLite.this, "5 iy A 2 58 &4,
Toast.LENGTH_SHORT).show();
returnfalse; } )
myDbHelper = new DatabaseHelper(this);
try { myDbHelper.createDataBase(); }
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catch (IOException ioe) {
throw new Error(*Unable to create database"); }
try { myDbHelper.openDataBase();
}catch(SQLException sqgle){throw sqle; }
/[Toast.make Text(this, "Success", Toast. LENGTH_SHORT).show();
btnCreateDB = (Button) this.findViewByld(R.id.btnCreateDB);
btnCreateDB.setOnClickListener(new ClickEvent());
btnboy = (Button) this.findViewById(R.id.buttonl);
btnboy.setOnClickListener(new ClickEvent());
btngirl = (Button) this.findViewById(R.id.button2);
btngirl.setOnClickListener(new ClickEvent());
btngro = (Button) this.findViewById(R.id.button3);
btngro.setOnClickListener(new ClickEvent());
btnlanl = (Button) this.findViewById(R.id.button4);
btnlanl.setOnClickListener(new ClickEvent());
btnlan2 = (Button) this.findViewById(R.id.button5);
btnlan2.setOnClickListener(new ClickEvent());
btnlan3 = (Button) this.findViewById(R.id.button6);
btnlan3.setOnClickListener(new ClickEvent());
/IbtnClose = (Button) this.findViewByld(R.id.btnClose);
/IbtnClose setOnClickListener(new ClickEvent());
table=new GVTable(this);
table.gvSet TableRowCount(8);//35% & - 47 EH Y ROW 4 85
LinearLayout ly = (LinearLayout)
findViewById(R.id.MainLinearLayout);
btnboy.setOnTouchListener(new OnTouchListener(){
@Owerride
public boolean onTouch(View v, MotionEvent event) {
if(event.getAction() == MotionEvent. ACTION_DOWN){
v.setBackgroundResource(R.drawable.lowe);
}else if(event.getAction() ==
MotionEvent. ACTION_UP){
v.setBackgroundResource(R.drawable.qwer); }
returnfalse; } });
btngirl.setOnTouchListener(new OnTouchListener(){ @Owerride
public boolean onTouch(View v, MotionEvent event) {
if(event.getAction() ==
MotionEvent. ACTION_DOWN){
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v.setBackgroundResource(R.drawable.lowe);
}else if(event.getAction() ==
MotionEvent. ACTION_UP){
v.setBackgroundResource(R.drawable.qwer);
} returnfalse;}  });
btngro.setOnTouchListener(new OnTouchListener(){
@Owerride
public boolean onTouch(View v, MotionEvent event) {
if(event.getAction() ==
MotionEvent. ACTION_DOWN){
v.setBackgroundResource(R.drawable.lowe);
}else if(event.getAction() ==
MotionEvent. ACTION_UP){
v.setBackgroundResource(R.drawable.qwer); }
returnfalse; } });
btnlanl.setOnTouchListener(new OnTouchListener(){ @Owerride
public boolean onTouch(View v, MotionEvent event) {
if(event.getAction() ==
MotionEvent. ACTION_DOWN){
v.setBackgroundResource(R.drawable.love);
}else if(event.getAction() ==
MotionEvent. ACTION_UP){
v.setBackgroundResource(R.drawable.qwer); }
return false; D;
btnlan2.setOnTouchListener(new OnTouchListener(){ @Owerride
public boolean onTouch(View v, MotionEvent event) {
if(event.getAction() ==
MotionEvent. ACTION_DOWN){
v.setBackgroundResource(R.drawable.lowe);
}else if(event.getAction() ==
MotionEvent. ACTION_UP){
v.setBackgroundResource(R.drawable.qwer);  }
return false; } D
btnlan3.setOnTouchListener(new OnTouchListener(){ @Owerride
public boolean onTouch(View v, MotionEvent event) {
if(event.getAction() ==
MotionEvent. ACTION_DOWN){
v.setBackgroundResource(R.drawable.love);
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}else if(event.getAction() ==
MotionEvent. ACTION_UP){
v.setBackgroundResource(R.drawable.qwer); }
return false; } D;
table.setTableOnClickListener(new GV Table.OnTableClickListener() {
@Owerride
public void onTableClickListener(int x,int y,Cursor c) {
c.mowveToPosition(y);
if(x==0) {
socket=null;
DataOutputStream os = null;
String str="25 "+c.getString(0)+"& - JEHIE
- "+c.getString(x+1)+" » FAf£4FE: +c.getString(x+2);
Toast.make Text(testSQLite.this, str, 1000).show();
String str2 = c.getString(0);
try { InetAddress serverAddr =
InetAddress.getByName(ADDRESS);
socket = new Socket(serverAddr,PORT);
String st = c.getString(0);
socket.setSoTimeout(SOCKET_TIMEOUT);
0S = new
DataOutputStream(socket.getOutputStream());
os.write(st.getBytes());
} catch (IOExceptione) {
e.printStackTrace(); } }
if(x==1) {
socket=null;
DataOutputStream os = null;
String str="25 "+c.getString(0)+"& - JEIE & "+c.getString(X)+" > ¥ ph%
T :"+c.getString(x+1);
Toast.makeText(testSQLite.this, str, 1000).show();
try{ InetAddress serverAddr = InetAddress.getByName(ADDRESS);
socket = new Socket(serverAddr,PORT);
String st = c.getString(0);
socket.setSoTimeout(SOCKET_TIMEOUT);
0s = new DataOutputStream(socket.getOutputStream());
os.write(st.getBytes());
} catch (IOException e) {
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e.printStackTrace();} }
if(x==2)
{ socket=null;
DataOutputStream os = null;
String str="%¢ "+c.getString(0)+"g& - JEME 3 "+c.getString(x-1)+" » FX 4
f/:"+c.getString(x);
/IString str=c.getString(x)+" fir
B ("+String.valueOf(x)+","+String.value Of (y)+")";
Toast.makeText(testSQL.ite.this, str, 1000).show();
try {
InetAddress serverAddr =
InetAddress.getByName(ADDRESS);
socket = new Socket(serverAddr,PORT);
String st = c.getString(0);
socket.setSoTimeout(SOCKET_TIMEOUT);
0s = new DataOutputStream(socket.getOutputStream());
os.write(st.getBytes());  }
catch (IOException e) { e.printStackTrace(); } }3}});
table.setOnPageSwitchListener(new GV Table.OnPageSwitchListener()
{@Oerride
public void onPageSwitchListener(int pagelD,int pageCount) {
String str="4£75"+String.value Of(page Count)+
" B HIEE "+ String.valueOf(page ID+1)+"E "
Toast.makeText(testSQL.ite.this, str, 1000).show() }});
ly.addView(table); }
private RadioGroup.OnCheckedChangeL.istener listener = new
RadioGroup.OnCheckedChangeL.istener()
{@Owerride
public void onCheckedChanged(RadioGroup group, int checkedld) {
// TODO Auto-generated method stub
/lint p = group.indexOfChild((RadioButton)
findViewBy ld(checkedld));
//int count = group.getChildCount();
switch (checkedld)
{ case R.id.radio0:
a=(String) n.getText();
a="number",
/[Toast.make Text(mContext, "{/RiEHY & "+n.getText(),
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Toast. LENGTH_SHORT).show();
break;
case R.id.radiol:
a=(String) nn.getText();
a="name",
/] Toast.make Text(mContext, "{/R 3y & "+nn.getText(),
Toast. LENGTH_SHORT).show();
break;
case R.id.radio2:
a=(String) nnn.getText();
a="song";
//Toast.make Text(mContext, "/} 3y & "+nnn.getText(),
Toast. LENGTH_SHORT).show();
break; }}};
class ClickEvent implements View.OnClickListener {
@Owerride
public void onClick(View v) {
if (v== btnCreateDB) {
CreateDB();
if(a=="number") {
if(s.matches("™)) {
1155 i FTA &R EER 2 5 A HY NUMBER)
CreateDB();
table.gvRemowve All();
InsertRecord(16);
table.gvUpdatePageBar("'select count(*) from " +
TABLE_NAME,db);
table.gvReadyTable("'select musicnumber,name,song from " +
TABLE_NAME,db);
table.LoadTable(0); }
else
{CreateDB();
/lInsertRecord(16);//## A 16 {&aC5%
table.gvRemowve All();
InsertRecord(16);
//db.close();
table.gvUpdatePageBar(“select count(*) from " +
TABLE_NAME+" where "+a+" = "+""+s+"" db);
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table.gvReadyTable(*'select musicnumber,name,song from " +
TABLE_NAME+" where "+a+" = "+""+s+"" db);
table.LoadTable(0); } }
else
{CreateDB();
/lInsertRecord(16);//4# A 16 &EC5E
table.gvRemowve All();
InsertRecord(16);
/ldb.close();
table.gvUpdatePageBar(*'select count(*) from "+
TABLE_NAME+" where "+a+" like "+"%"+s+'%"",db);
table.gvReadyTable("select musicnumber,name,song
from" + TABLE_NAME+" where "+a+"like "+"%"+s+'"%'",db);
table.LoadTable(0);}}
if (v== btnboy)
{ CreateDB();
if(s.matches("™))
{ table.gvRemoweAll();
InsertRecord(16);
table.gvUpdatePageBar(*'select count(*) from "+
TABLE_NAME + " where sex="+1,db);
table.gvReady Table("'select musicnumber,name,song
from "+ TABLE_NAME + " where sex="+1,db);
table.LoadTable(0); }
else
{if(a=="number") {
/lInsertRecord(16);//#d A 16 {5RaCs%
table.gvRemowve All();
InsertRecord(16);
//db.close();
table.gvUpdatePageBar(*'select count(*) from *
TABLE_NAME + " where sex="+1+"and "+a+"= "+""+s+"",db);
table.gvReadyTable("select
musicnumber,name,song from "+ TABLE_NAME + " where sex="+1+"and
"tat+'"'= "+"'"+S+"",db);

+

table.LoadTable(0); }
else { table.gvRemowveAll();
InsertRecord(16);
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table.gvUpdatePageBar("'select count(*) from "+ TABLE_NAME + "
where sex="+1+"and "+" "+a+"like "+"%"+s+'%"",db);
table.gvReadyTable("select
musicnumber,name,song from " + TABLE_NAME + " where sex="+1+"and
"+" "tat"like "+"%"+s+'%'",db); table.LoadTable(0);  }}}
if (v==btngirl)
{ CreateDB();
if(s.matches("™)){
table.gvRemowve All();
InsertRecord(16);
table.gvUpdatePageBar(*'select count(*) from " +
TABLE_NAME + " where sex="+2,db);
table.gvReadyTable("select musicnumber,name,song
from "+ TABLE_NAME + " where sex="+2+"and "+" language = 'E&zE",db);
table.LoadTable(0);}
else
{if(a=="number") {
/lnsertRecord(16);//#H A 16 {&aCs%
table.gvRemowve All();
InsertRecord(16);
/ldb.close();
table.gvUpdatePageBar(*'select count(*) from "+
TABLE_NAME + "where sex="+2+"and "+a+" = "+""+s+"" db);
table.gvReadyTable("select
musicnumber,name,song from "+ TABLE_NAME + " where sex="+2+"and
"ta+''= "+'""+S+"",db);
table.LoadTable(0); }
else
{ table.gvRemoweAll();
InsertRecord(16);
table.gvUpdatePageBar("'select count(*) from "+
TABLE_NAME + " where sex="+2+"and "+" "+a+" like "+"%"+s+'%'"",db);
table.gvReadyTable("select
musicnumber,name,song from "+ TABLE_NAME + " where sex="+2+"and
"+" "tat+"like "+"%"+s+'"%",db);
table.LoadTable(0); 1}
Hf (v==btngro)
{ CreateDB();
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if(s.matches("™))
{ table.gvRemoweAll();
InsertRecord(16);
table.gvUpdatePageBar("'select count(*) from " +
TABLE_NAME + "where sex="+3,db);
table.gvReadyTable("select musicnumber,name,song
from "+ TABLE_NAME + " where sex="+3,db);
table.LoadTable(0);}
else
{if(a=="number")
{/InsertRecord(16);//4# A 16 {FECEE
table.gvRemowve All();
InsertRecord(16);
//db.close();
table.gvUpdatePageBar("'select count(*) from "+
TABLE_NAME + " where sex="+3+"and "+a+"= "+""+s+"",db);
table.gvReadyTable("select
musicnumber,name,song from "+ TABLE_NAME + " where sex="+3+"and
"tat+'"= "+'""+S+"",db);
table.LoadTable(0); }
else
{table.gvRemowe All();
InsertRecord(16);
table.gvUpdatePageBar(*'select count(*) from "+
TABLE_NAME + "where sex="+3+"and "+" "+a+" like "+"%"+s+"%"",db);
table.gvReadyTable("select
musicnumber,name,song from " + TABLE_NAME + " where sex="+3+"and
"+" "+a+"like "+"%"+s+'"%'"" db);
table.LoadTable(0);}}
}if (v==Dbtnlanl)
{CreateDB();
if(s.matches("™)){
table.gvRemowve All();
InsertRecord(16);
table.gvUpdatePageBar("select count(*) from " +
TABLE_NAME + "where language = 'EzE"" ,db);
table.gvReadyTable("select musicnumber,name,song
from" + TABLE_NAME + " where language = 'EXzE"" ,db);
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table.LoadTable(0);}
else
{if(a=="number")
{ /NnsertRecord(16);//4# A 16 {RECEE
table.gvRemowve All();
InsertRecord(16);
/ldb.close();
table.gvUpdatePageBar(*'select count(*) from "+
TABLE_NAME + "where language="EfzE" +" and "+a+" = "+""+s+"" db);
table.gvReadyTable("select
musicnumber,name,song from " + TABLE_NAME + " where language= "E{z&"
+"and "+at" = "+""+s+"" db);
table.LoadTable(0); }
else
{ table.gvRemoweAll();
InsertRecord(16);
table.gvUpdatePageBar("'select count(*) from " +
TABLE_NAME + "where language= "EfzE"' and "+" "+a+" like
"+"%"+s+'"%'"",db);
table.gvReadyTable("select
musicnumber,name,song from " + TABLE_NAME + " where language= 'E{z&'
and "+" "+a+"like "+"%"+s+'"%"",db);
table.LoadTable(0);} }
} if (v==btnlan2)
{ CreateDB();
if(s.matches("™))
{ table.gvRemoweAll();
InsertRecord(16);
table.gvUpdatePageBar("'select count(*) from "+
TABLE_NAME + " where language = '& 55", db);
table.gvReadyTable("select musicnumber,name,song
from "+ TABLE_NAME + " where language = '&3E" db);
table.LoadTable(0);}
else
{ if(a=="number")
{//InsertRecord(16);//#H A\ 16 {5&aCs%:
table.gvRemowve All();
InsertRecord(16);
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//db.close();

table.gvU pdatePageBar("seIect count(*) from "+
TABLE_NAME + " where language="&3E" +" and "+a+"= "+""+s+"" db);

table.gvReadyTable("select
musicnumber,name,song from " + TABLE_NAME + " where language='& 55"
+"and "+at+" = "+""+s+"" db);

table.LoadTable(0): }
else
{ table.gvRemoweAll();
InsertRecord(16);

table.gvUpdatePageBar(*'select count(*) from " +
TABLE_NAME + "where language='& 38" and "+" "+a+" like
+"%"+s+"%"",db);
table.gvReadyTable("'select
musicnumber,name,song from " + TABLE_NAME + " where language='&3&'
and "+" "+a+"like "+"%"+s+"%"",db);
table.LoadTable(0);}}
}if (v==Dbtnlan3)
{ CreateDB();
if(s.matches("))
{ table.gvRemoweAll();
InsertRecord(16);
table.gvUpdatePageBar(*'select count(*) from " +
TABLE_NAME + "where language = 'J5zE™,db);
table.gvReadyTable("'select musicnumber,name,song
from " + TABLE_NAME + " where language = 'J<zE", db);
table.LoadTable(0); }
else
{if(a=="number")
{ /NnsertRecord(16);//4# A 16 {&ECEE
table.gvRemowve All();
InsertRecord(16);
/ldb.close();
table.gvUpdatePageBar("'select count(*) from "+
TABLE_NAME + "where language= '5xz&" +" and "+a+" = "+""+s+"" db);
table.gvReadyTable("select
musicnumber,name,song from " + TABLE_NAME + " where language= 'J<zE™
+"and "tat+" = "+""+s+"" db);
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table.LoadTable(0); }
else
{ table.gvRemoweAll();
InsertRecord(16);
table.gvUpdatePageBar("'select count(*) from " +
TABLE_NAME + "where language= '5xzE" and "+" "+a+" like
"+"%"+s+'%'",db);
table.gvReadyTable("select
musicnumber,name,song from "+ TABLE_NAME + " where language= 'J<zE"
and "+" "+a+"like "+"%"+s+'"%"",db);
table.LoadTable(0); D}
/**
* TEN TR R e A R
void CreateDB() {
11 FE N Rl e e
/*  db = SQLiteDatabase.create(null);
Log.e("DB Path", db.getPath());
String amount = String.valueOf(databaseL.ist().length);
Log.e("DB amount", amount);
Il AEEEEER
String sql = "CREATE TABLE "+ TABLE_NAME + " ("+
ID + "text not null,"+ NAME + " text not null," +
ADDRESS  + "text not null, "+ PHONE + "text not
null," +
AGE + "text not null "+");";
try {db.execSQL("DROP TABLE IF EXISTS "+ TABLE_NAME);
db.execSQL(sql);
} catch (SQLExceptione) {}
*/
s = etl.getText().toString(); }
/**
* FEA N REEE
*/
void InsertRecord(int n) {
db = myDbHelper.getReadable Database() ;
/* inttotal = id + n;
for (; id < total; id++) {
String sgl = "insertinto "+ TABLE_ NAME + " (" +
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ID+" "+ NAME+" "+ ADDRESS+", "+ PHONE+", "+ AGE
+ ") values(™ + String.valueOf(id) + ™,
'man','address','123456789','18");";
try {
db.execSQL(sql);
} catch (SQLExceptione) {}
y*3}

GVTABLE

package com.testSQL.ite;
import java.sgl.SQLXML,;
import java.util. ArrayList;
import java.util.HashMap;
import android.content.Context;
import android.database.Cursor;
import android.database.sqlite.SQLiteDatabase;
import android.graphics.Color;
import android.view. View;
import android.widget.AdapterView;
import android.widget.GridView;
import android.widget.LinearLayout;
import android.widget.Simple Adapter;
import android.widget. AdapterView.OnltemClickListener;
public class GVTable extends LinearLayout {
protected GridView gvTable,gvPage;
protected SimpleAdapter saPagelD,saTable;// s
protected ArrayList<HashMap<String, String>> srcPagelD,srcTable;// #j
e
protected int TableRowCount=10;//57 EHF » £ EHAY Row 4& %]
protected int TableColCount=0;//%; & col Y=
protected SQL.iteDatabase db;
protected String rawSQL="";
protected Cursor curTable;//4y B I FH Y Cursor
protected OnTableClickListener clickListener;// =& 43 B 324 (i BEEEHE 1Y
EIEGISHE
protected OnPageSwitchListener switchListener;// 73 EH V) HARS A B3 ok 85
public GV Table(Context context) {
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super(context);
this.setOrientation(VERTICAL) /T &
gvTable=new GridView(context);
addView(gvTable, new
LinearLayout.LayoutParams(LayoutParams.FILL_PARENT,
LayoutParams.WRAP_CONTENT));// & &=k
/lgvTable.setBackgound(Red);
srcTable = new ArrayList<HashMap<String, String>>();
saTable = new Simple Adapter(context,
srcTable,// E5JH
R.layout.items,// XML &1
new String[] { "ltemText"},// @hFEE4HEL Imageltem HIFERY-TIH
new int[] { R.id.ltemText });
I [INIASKZ =N
gvTable.setAdapter(saTable);
gvTable.setOnltemClickListener(new OnltemClickListener(){
@Owerride
public void onltemClick(AdapterView<?> arg0, View argl, int arg2,
long arg3) {
int y=arg2/curTable.getColumnCount()-1;//fZEfEH A~ E
int x=arg2 % curTable.getColumnCount();
if (clickListener = null// 5y E 815 ¢ B LE
&& y'=-1) {/IEE P A A s
clickListerer.onTableClickListener(x,y,curTable); }} });
gvPage=new GridView(context);
gvPage.setColumnWidth(60);// 25 B f-E 4 B H2 1Y e

gvPage.setNumColumns(GridView. AUTO_FIT);// 7y B %5l e H B3k
addView(gvPage, new
LinearLayout.LayoutParams(LayoutParams.WRAP_CONTENT,
LayoutParams.WRAP_CONTENT));// & &=k
srcPagelD = new ArrayList<HashMap<String, String>>();
saPagelD = new SimpleAdapter(context,
srcPagelD,// BB AR
R.layout.items,// XML ‘&5
new String[] { "ltemText"},// EHREEZHEL Imageltem HFERTIH
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new int[] { R.id.ltemText });
/7N IRIAER =N
gvPage.setAdapter(saPagelD);
NI ID=ISNr 4]
gvPage.setOnltemClickListener(new OnltemClickListener(){
@Owerride
public void onltemClick(AdapterView<?> arg0, View argl, int arg2,
long arg3) {
LoadTable(arg2)//TRHEZFT 158 75 H 3B HCH HE A VEHER
if(switchListener!'=null){// 57 & V/J#aHE
switchListener.onPageSwitchListener(arg2,srcPagelD.size()); }} }); }
/**
* ERRPTAEREEE
public void gvRemowve All()
{ if(this.curTable!=null)
curTable.close();
srcTable.clear();
saTable.notifyDataSetChanged();
srcPagelD.clear();
saPagelD.notifyDataSetChanged(); }
/**
* EHUEE 1D 7Y R, R0 RiTE Y SEE0E
* SQL.:Select * From TABLE_NAME Limit 9 Offset 10;
* FoniE TABLE_NAME ERAEHUEE - ki 10 17 - B9 17
* @param pagelD 5 ERYTE ID  */
protected void LoadTable(int pagelD)
{ if(curTable!=null)/F&5 FRATETE
curTable.close();
String sql= rawSQL+" Limit "+String.valueOf(TableRowCount)+ "
Offset " +String.value Of (pageID* TableRowCount);
cur Table = db.rawQuery(sql, null);
gvTable.setNumColumns(curTable.getColumnCount());// =37 F 355
FfEsH RS |
TableColCount=curTable.getColumnCount();
srcTable.clear();
NS s
int colCount = curTable.getColumnCount();
for (int1=0;i <colCount; i++) {
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HashMap<String, String> map = new HashMap<String,
String>();
map.put("ItemText", curTable.getColumnName(i));
srcTable.add(map);
} 11" 2R A
int recCount=curTable.getCount();
for (int i = 0;i <recCount; i++) {// Efr &|—KEIE
curTable.moveToPosition(i);
for(int ii=0;ii<colCount;ii++)// A El— {5k EdE: T iy ES
{
HashMap<String, String> map = new HashMap<String,
String>();
map.put(“"ltemText", curTable.getString(ii));
srcTable.add(map); }}
saTable.notifyDataSetChanged(); }
/**
* B E RIS R TE
* @param row FAGITEY
*/
public void gvSetTableRowCount(int row)

{
TableRowCount=row; }

/**

* QUSRS R AT TE

* @return 178y */
public int gvGetTableRowCount()
{ return TableRowCount; }
/**

* HUS & mijr HHY Cursor

* @return ‘E {5 EAY Cursor  */
public Cursor gvGetCurrentTable()
{ return curTable; }
/**

* e HEUREDR

* @param rawSQL sql 5&4

* @param db EiEE ¥/
public void gvReadyTable(String rawSQL, SQLiteDatabase db)
{ this.rawSQL=rawSQL;
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this.db=db; }
/**
* Tl o EN - SR s E
* @param sql SQL &
* @param db R
*/
public void gvUpdatePageBar(String sgl,SQLiteDatabase db)
{
Cursor rec = db.rawQuery(sql, null);
rec.moveToLast();
long recSize=rec.getLong(0);//HU{5-485
rec.close();
int pageNum=(int)(recSize/TableRowCount) + 1;//H{{545T H %4
srcPagelD.clear();
for (inti=0;i < pageNum; i++) {
HashMap<String, String> map = new HashMap<String, String>();
map.put(“ltemText",  String.valueOf(i+1)+"& ")}/l NINE &
EJRHY ID
srcPagelD.add(map); }
saPagelD.notifyDataSetChanged(); }

/**
* AR YRR A3 LR
*/
public void setTableOnClickListener(OnTableClickListener click) {
this.clickListener =click;  }

public interface OnTableClickListener {
public void onTableClickListener(int x,int y,Cursor c); }

S ——
/**

* 3 E MR RE ER S [ SRk 8

x|/

public void setOnPageSwitchListener(OnPageSwitchListener pageSwitch)
{this.switchListener = pageSwitch; }

public interface OnPageSwitchListener {

public void onPageSwitchListener(int pagelD,int pageCount); }}
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